Pythagoras’ theorem (HKMO Classified Questions by topics)
1985 F14.2 D
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2 LABC=ZDCB =90° - y
% AB=a=2>BC=CD=8% AD=b> fbenig - 4
In the figure, ABCD is a trapezium with 4B parallel to
i
8

DC and ZABC = 4ZDCB = 90°. If AB = a = 2, B
BC =CD =8 and AD = b, find the value of b .

1986 FG7.1 q

4o Bl A7 0 k= A~B~C 5 [l 22 9% QR~RP~ A

PO 4p*»>* R~P~Q°% AR=r>RB=6°Q0C=4">

LA=90° > Frenig o 0

In the figure, OR, RP, PQ are 3 arcs, centres at A, B,

C respectively, touching one another at R, P, Q. ul B

A
IfAR=r,RB=6,0C=4, £Z4=90°,
find the value of r.

1987 F14.2

WHRY 0 AB AL B .

% AC=15>BC=8 % AB=b> f b hig o

In the figure, 4B is a diameter of the circle.

If AC =15, BC =8 and AB = b, find the value of 5.
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. AABC # »ZC=90° 2 D~E %~ %% BC 3 CA =
v 8o % AD=7 %2 BE=4> £ AB & R o

In AABC, ZC =90° and D, E are the mid-points of BC
and CA respectively. If AD =7 and BE =4,

find the length of AB .
1990 FI5.1 12 .
Yo Bl i 0 Fea ehiE o . .
In the figure, find the value of a.
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d P
RP ~ PQ3 4p»** P~Q~R. - % Z0=d -

XR=3>YP=12+ /X=90° $ d chig o 0 12

In the figure, OR , RP, PQare 3 arcs, centres at L TR y

X, Y and Z respectively, touching one another at

P,Qand R. If ZQ=d, XR=3, YP =12, ZX=90°, find the value of d
1995 HG7 2008 F14.4 D C
“®*® > ABCD 7-17*3,>® 4AB=1 %2 CPQ :- %P

W= &35 o £ ACPQ o ff o

In the figure , ABCD 1is a square where AB = 1 and CPQ is an

equilateral triangle. Find the area of ACPQ . A 9 B
1998 HI4
é’—@é ,ABCDé—E%qaoE;ABiﬁj—g&’féA E B

®BE=1%2 CE=2¢° fi& >3 ABCD % #f o
In the figure, ABCD is a square.

Eis apoint on AB suchthat BE=1and CE=2.
Find the area of the square ABCD.

D C
2001 FG2.2
E &£ 335 ABCD p - 8o 2
JII ~4 fo b R b g o
E is an interior point of the rectangle ABCD. Given that the lengths of EA4, EB,
EC and ED are 2, /11,4 and b respectively, find the value of b .
2003 FI3.4
2 835 ABCD ¥+ & & AC{vBD 3 4p£-% - AB=5>BC=4>CD=3 -
F DA=S> £ Sehig -
The diagonals AC and BD of a quadrilateral ABCD are perpendicular to each other.
Given that AB=15, BC=4, CD =3.1f DA = §, find the value of S .

v EA~EB~EC {v ED ch& B~ % 5 2

Page 1



Pythagoras’ theorem (HKMO Classified Questions by topics)
2006 HI10 D N C
4eBl- »ABCD - >3, HEE L 4 }lcm
cme & PO fv MN 4p2>v8 O % P
PD ~ NC ~ BQ 4v AM &% B E_ lcm,
00 i B E_xem» R x hig o
In Figure 2, ABCD is a square with side
length equal to 4 cm. The line segments PO
and MN intersect at the point O. If the lengths 4
of PD, NC, BQ and AM are 1 cm and the
length of OQ is x cm, find the value of x .
2008 HG10
4Bl » ABCD H & 3 25 3% T35 AB =4 cm %
BC=5cm o #37 AR 4HE » @ CZ A BT L >
@A EF - 2 EF=rcm > & r i@ o
In the figure, ABCD is rectangular piece of paper with
AB =4 cm and BC =5 cm. Fold the paper by putting
point C onto A to create a crease EF.
If EF = r cm, find the value of 7.
2009 FG3.3
YRl FE 5 Qom fhp AR AT G
Me ok Qi \
In the figure, a square of side length O cm is inscribed in a
semi-circle of radius 2 cm. Find the value of O .
2014 FG1.1
F-BEEZ AVHBEAEFES FEEE)NF A 8 2 B L H 32
PRI TR
If an isosceles triangle has height 8 from the base, not the legs, and perimeters 32,

determine the area of the triangle.
2015 F13.4

RN

* 8 #_ED #hE R 15 &

4 cm

2cm X

’BE=AC’BD=% 2 DE+BC=1- B
F 6 g o
In the figure below, BE = AC, BDZ% and DE+BC=1. E;j D

If 8 is 15 times the length of ED, determine the value of & .
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@@ PA=2>PB=3%2 PC=5° £ PD & & 2
As shown in the figure, P is a point inside a rectangle
ABCD such that P4 =2, PB=3 and PC=5. 3 S
Find the length of PD .
B c
2019 HG2
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Figure 1 shows two adjacent squares ABCD and
BEFG lying on a semi-circle with centre O and ®] - Figure 1

radius 5 cm. 4, B and E lie on the diameter of the
semi-circle, D and £ lie on the semi-circular arc.
Let the sum of areas of ABCD and BEFG be S cm?, find the value of S .

2023 HI9

A@Y P 31335 ABCD p eh— B¢ FAABP = A D
AADP > AP=5\2 % BP=13 >
Fit A5 ABCD i #f - p
In the figure, P is a point inside the square ABCD such
that AABP = AADP. AP =52 and BP = 13.

Find the area of square ABCD .

2023 F14.1

%= &£ 354BCY > LC=90°> DEJ_BC’BE=AC’BD=%3? B

DE+BC=1¢° 4% a=4ED F o iz -

In triangle ABC, ZC = 90°, DE | BC , BE = AC, BD =% and £ D

DE + BC=1.1f a=4ED, find the value of o .
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2024 HIS
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In a right-angled triangle, the lengths of the medians from the vertices of the

acute angles are 7 and 9. Find the length of the hypotenuse of the triangle.
2024 HG6

ARl o ZBFE L 1 om i A
ABCD ~ MNPQ ~ MQORS & #+— 42 (¥ 4 %
BAus MN % MS hv 8o ¢ fo— &

ez pr A, 2 EC-~DP2 R K

In Figure 4, three squares ABCD, MNPQ and
MOQRS of sidesl cm toucheach other so that
points 4 and B are the mid-points of MN and

MS respectively. Given that a circle contains ~ *°

all three squares and passes through points C,
D, P and R, find the radius of the circle.

Bl = Figure 4

2024 G1.1
FF bz £ABCHF BE 5L 1l ¥ AB=89 > 4
$= £A4BC 1% R P o

Find the perimeter P of the right-angled triangle ABC if all the 89

side lengths are positive integers and 4B = §9. B C
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Answers
1985 F14.2 | 1986 FG7.1 1987 F14.2 1990 HI17 1990 FI5.1
10 2 17 2413 17
1990 FG9.4 |1995HG72008 Fl44| 1998 H[4 2001 FG2.2 | 2003 FG3.4
5 23 -3 3 3 3.2
2008 HG10 | 2009 FG3.3 2015 FI3 .4
20035110 a3l 45 2014 FG1.1 15
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2018 HI7 2019 HG2 2023 HI9 2023 F14.1 2024 HIS
245 25 289 1 226
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